12.01.21
Maths

In maths today we will revise our multiplication. We are all great with our tables but how do we find the answer to 34x5 without having to count.

[image: ]Now there are 2 ways to approach this. In the example below the larger number has been partitioned in to tens and ones. The ones are multiplied first, then the tens and the answer is the total of both sums. 



If you are confident with the above then you can use the quicker method where you have to remember to carry numbers from the next column to add to the next multiplication.
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Please complete either A, B, or C below and try to answer at least one challenge question.
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Challenge
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TARGET To multiply TU and HTU by U using a written method.

Examples
39 9 X7 =63 Carry60 (%) 329
X 7 30 X 7 =210 X 8
27 3 210+ 60 =270 2632
¢ Answer 273 7

Work out
Q227x2 @ 47xs5
©35x4 @s6x3
©19x3 @ ssx2
Os9x8 @67x4
O 23x5 @ s8xs
Os6ix2 @ 27x8
@ 8x4 @ 9ax4
O36x8 @38x3
@ How many skis are
needed for a party of
38 skiers?

@ Sixty-nine people pay
£5 each for a coach
ticket. How much do
they pay altogether?

@ Pairs of socks are sold
in packs of three. How
many pairs are there in
47 packs?

Work out

Q Tickets for a Fun Run
cost £6 each. 249
people buy tickets.
How much is made
for charity from ticket
sales?

@ Each sweet weighs 5g.
What do 375 sweets
weigh?

@ Each row of knitting
takes eight minutes.
There are 147 rows in a
pattern. How long will
it take to knit?

@ Elsie takes four pills
every day. How many
does she take in a non-
leap year?

9 X 8=72 Carry70()
20 X 8 + 70 = 230 Carry 200 (%)
300 X 8 + 200 = 2600

Answer 2632

Cc

Work out
© 386x2 @ 2395x7

© 2193x9 @ 8749x3
© 3249x6 @ 2608 x8

©Qs5157x8 @ 1573%6

© 2604 x7 @ 3645%9
0 7359 x5 @ 2586 x 4

@c172x6 @ 6180x7

© 2638 x9 @ 43798

@ A stately home has 8269
visitors, each paying £5
entrance fee. How much
is taken in entrance fees?

@ The population of
Westham is 5846. Three

times as many people live
in Eastham. What is the
population of Eastham?

@ Each car weighs 1874 kg.
What is the total weight
of the eight cars on a
transporter?

@ Aryan earns £2957 each
month. How much does
he earn in six months?
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Here are three incorrect multiplications.

T O T|O
6|1 74
x| |5 X 7
35 419 |8

T O

2 | 6

X 4

8 2 4

Correct the multiplications.
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Always, sometimes, never

*  When multiplying a two-digit number
by a one-digit number, the product
has 3 digits.

*  When multiplying a two-digit number
by 8 the product is odd.

*  When multiplying a two-digit number
by 7 you need to exchange.

Prove it.




